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Here it is possible that he brings it inside and unloads

OVERVIEW

X117 27 taught that we do not allot for an 77702X the usual mnX '7 (in front) as we do
for the door of a regular house (because he can bring the load into the 77702K).
There is a dispute between *"w2 and Mo0IN as to the structure of this 77700X

— %955 1397 1Y PN NITOIN *0NDT 7YY wa

»'"w1 explained that a ‘regular’ 79702X has no wall at all -
— (ONWYA HANNN AT N, OV 2,78 97 192)95Y) 45‘\1» /) 799 91021 ) O

And >"v1 is also o733 in the end of n3a %2 P75 -
— 1D N /X2 DAN 712 NP 29 HNMWY 1YY 1Y »

‘When does »x12w not maintain the rule of 7apn s, by four openings, however

by three openings he does maintain the rule of amo1 77 77pn *0. This is the X073 which
»"w1 endorses there, and °"w" -
— 955 197 1Y PRV NI1DINA *WIa

Explains that by an 5797958 which has no walls at all (not even one wall) -
— IYNN YN Y92 MDY 199 NIPN 29 HNMIYY 1Y 1YY

bR does not utilize the concept of an1e1 721 779pn 5 for all four walls -
— 713 XN N3 10500 PRT *AYPaa NITOIND INIDY NNRD Ta9)

And therefore YX12w maintains regarding an 777928 which is in a 7ypa (valley)

that you cannot carry in that 77700KX only within nR '7. >"v1 explains the X723 -
— 5n9m17 59 732 /590N TON 1911 92 W ON 19NT 199 SN WHWA Yax

However for three "X does maintain; meaning that if there is one standing
wall we do say om0y 7771 19pn 2 regarding the three remaining walls.

'xon "2

A 77709% 2no has no walls, as opposed to 27 *27 77709% (which has four walls but they have many windows) or
Xn 11 7717008 (whose [four] walls do not reach the ceiling).

? It consists of four corner posts and a roof placed on top of the posts.

* The x7n3 there is discussing the concept of amoY 717 77pn 0 (the lip of the (roofing) beam descends and closes.
This means that even where there is no wall; if however there is a horizontal beam above an opening, we consider as
if the lip of the beam extends downwards and makes an [imaginary] fx°nn.

> See *"w there *2 7"7 and 92K "7

® A 719pa has the 7 of a N"9m3 regarding carrying on naw; you may only carry up to M»X '7 in a 7vpa.

" The 71709K since it has no walls (to become a *";17) it retains the status of a n™>»13. And even though it has a roof (a
77PN), but since it has no walls at all, we do not say anI01 771 77pn *» for a structure which has no walls.

¥ That structure (with a roof and one standing wall) would be considered a "7 because of i17pn *o.
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mooin offers his opinion:
— MPNN YHY NY YW NITDIR DNDT NN PNYY 139290

And the view of the ' is that a 797958 an® has three walls -
— N30 AN NHNAY N7 NNYT NIN N9TDINRY NN ONIYT (3,05 97 )Py 99N N3 99N719

As the X3 states in 297> X% 270 that this world is similar to an 7m795X in that

the north side of this world is not surrounded (as opposed to the other three sides of

the world which are encircled)9 -
— 1PY AN Y2IN2 DAN /)2 197 5D 3 19092 (3,73 97 pary) TN DI P99 91029

And in the end of M3» > Pp the text reads 179 MR '72 »aR 32 719 N 90 (the exact
opposite of >"w1 no73) -
— DPY292 NYPN 29 1IN XY MYINN YUY ON 23 PRYI WHYA vI9

The explanation according to m»oIn is, by three, meaning when there are only

three partitions we do not say ;792n 2 for the fourth opening -
— 9P 29 9N NP9 NYINNN O) NP VIV /43 YaN

However by four meaning when there is also a partial fourth 73°m%, then XY
agrees that we say on101 771 ;190 9 for the fourth partition.

moon will explain the difference between ono 71709K and XN*MA 77709K) 27 *27 A7703K:
— PN 7T NP1 Y291 NN MYNN YHY 523 N W 29 %27 NITOIN)Y

And an 31 527 7705K also has three complete nx>n» and the fourth 7%°mn is

four n1»X high but does not reach the roof -
— NIV NIYY P9 NN NN YD NN NITOINY

And by an 8n219 779702K the fourth 72om% is only ten 25w high.

mMooIn offers an alternate distinction of 27 °27 77700X and XN 17 7YT0ON:

:09NAV NAYYN MNS NN NIVY MY NN 29 527 9) ON
Or you may also say that by 29 527 77700X the fourth wall is ten a'ow high, and
by Xn 11 77700 the fourth wall is less than ten 2sn2w high.

SUMMARY

According to *"w1 a 77702X ano has no walls, an 27 °27 77700X has four walls with
many windows, and an Xn>7 77700X has walls which do not reach the ceiling.
According to MdOIN a 777028 ano has three walls, an 27 527 77700X has a low fourth

? This indicates that an 77702X in encircled on three sides, and open on the fourth side.

1% According to *"wA that ono 771709 has no walls at all, we understand that Xn°»11 7770981 27 °27 777098 have some
sort of walls; however, according to NMo01n that and 771705X has three walls, what type of walls can an 27 °27 77700R
XN have and yet be distinguished (somewhat) from a regular house.

' See “Thinking it over’.
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wall of N1k "7 (or o°rdY ), and an XN°217 77702K has low fourth wall of a'rdv ™ (or
less than o mov ).

*"w1 maintains that 7790 °9 is not applicable unless there is one wall (then it can
apply to the other three walls). N1®0IN maintains that 77pn ° cannot make a
complete 7%’ (even in a structure of three walls) unless there is a partial 7% mn
initially by the fourth wall.

THINKING IT OVER

The X773 initially assumed that the Xn»972 which maintains that an 77703X is
allotted mnX '7 1s discussing an 27 °27 771700X (which according to moon either
means that the fourth wall is [only] mX '7, or [only] 2°19v ). The X3 rejected
this view (because it is an X°7¥n X11771°R) and concluded that it refers to an 77700X
xn>m17 (in which the fourth wall is either onou > or less than o°nov ™).'> How can
we explain the dispute between the first answer of N1901N, which maintains that a
fourth wall of (Iess than nMX '7 but not less than) 2oV " is not an X°H¥N RIITIN,
but rather an Xn 11 77700K, and the second answer of N1vo0IN that a fourth wall of "
21OV is an X°7VA RITIR?

12 See footnote # 11.
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